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QUESTION 1

Which tool is used to estimate the hardware server resources that are required for a Cisco Unified CCX deployment? 

A. IPC Resource Calculator 

B. CTI Port Calculator 

C. Cisco Unified Communications Sizing Tool 

D. Cisco Unified CCX Applications Administration 

Correct Answer: C 

 

QUESTION 2

Which statement is true about the default script field when adding an application? 

A. When a caller does not enter a choice in a Menu step, it will execute the default script. 

B. Any problems running the configured script will cause the default script to be executed. 

C. When the caller enters a digit in the Menu step that is not defined, the default script will be executed. 

D. When the caller enters a digit that is not checked in the filter of the Get Digit String step, the default script will be
executed. 

Correct Answer: B 

 

QUESTION 3

Which deployment option is invalid for Cisco Unified Contact Center Express? 

A. a two-node Cisco Unified Contact Center Express cluster connected to a Cisco Unified Communications Manager
cluster 

B. a one-node Cisco Unified Contact Center Express cluster connected to two Cisco Unified Communications Manager
clusters 

C. a one-node Cisco Unified Contact Center Express cluster connected to a Cisco Unified Communications Manager
Express router 

D. two Cisco Unified Contact Center Express clusters, each with two nodes, connected to the same Cisco Unified Cisco
Unified Communications Manager cluster 

Correct Answer: B 

 

QUESTION 4
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During runtime, when a valid SQL Query in a DB Read step returns 0 rows, which branch of the step will be executed? 

A. Timeout 

B. SQL Error 

C. Successful 

D. No Data 

Correct Answer: C 

 

QUESTION 5

Which step can be used to trap runtime script errors and recover gracefully? 

A. Set 

B. Call Subflow 

C. On Exception Goto 

D. Get Reporting Statistic 

Correct Answer: C 
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